
©M D2s0W1a8q NKMurt_a^ _SAolfytgw_ayrceO kLCLjCl.e z nAHlElS irtiQgihWt[sV qrHepsSeortvseIds.d E iMHardxeG xwxiCtqhk sIHn_fVijnXiRtjeo gAYlrg\egb_rmai g2T.

Worksheet by Kuta Software LLC

Algebra 2

Practice- Higher Degree Factoring

Name___________________________________  ID: 1

Date________________  Period____
©N X2l0Y1D8^ UKfuStuas \SDoMfRtfwzaarUeu cLpLzCG.J f lAblNl` YraiEgihjtcsQ OreeOskeKrdvaeTdv.

Factor each completely.

1)  5r3 - 30r2 - 80r 2)  7m3 - 61m2n + 40n2m

3)  9b2 + 4 4)  1 - 9a2

5)  25r2 - 4 6)  4 + 20x + 25x2

7)  9m4 - 4n4 8)  25a4 - 9b4

9)  m3 - 216 10)  216x3 - 1

11)  864u6 + 500v6 12)  16x6 + 2y6

13)  x4 - 10x2 + 25 14)  x4 + 12x2 + 35

15)  7a8 + 19a4b4 + 10b8 16)  5x6 - 41x3y3 + 42y6

17)  45m3 + 36m2 - 75m - 60 18)  280b3 - 336b2 - 80b + 96

Factor each.

19)  x4 - 6x2 - 27 = 0 20)  x3 - 3x2 + 3x - 9 = 0

21)  x3 + 27 = 0 22)  x7 - x5 - 16x3 + 16x = 0
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Factor each completely.

1)  5r3 - 30r2 - 80r

5r(r - 8)(r + 2)
2)  7m3 - 61m2n + 40n2m

m(7m - 5n)(m - 8n)

3)  9b2 + 4

Not factorable

4)  1 - 9a2

(1 + 3a)(1 - 3a)

5)  25r2 - 4

(5r + 2)(5r - 2)
6)  4 + 20x + 25x2

(2 + 5x)2

7)  9m4 - 4n4

(3m2 + 2n2)(3m2 - 2n2)
8)  25a4 - 9b4

(5a2 + 3b2)(5a2 - 3b2)

9)  m3 - 216

(m - 6)(m2 + 6m + 36)
10)  216x3 - 1

(6x - 1)(36x2 + 6x + 1)

11)  864u6 + 500v6

4(6u2 + 5v2)(36u4 - 30u2v2 + 25v4)
12)  16x6 + 2y6

2(2x2 + y2)(4x4 - 2x2y2 + y4)

13)  x4 - 10x2 + 25

(x2 - 5)2

14)  x4 + 12x2 + 35

(x2 + 7)(x2 + 5)

15)  7a8 + 19a4b4 + 10b8

(7a4 + 5b4)(a4 + 2b4)
16)  5x6 - 41x3y3 + 42y6

(5x3 - 6y3)(x3 - 7y3)

17)  45m3 + 36m2 - 75m - 60

3(3m2 - 5)(5m + 4)
18)  280b3 - 336b2 - 80b + 96

8(7b2 - 2)(5b - 6)

Factor each.

19)  x4 - 6x2 - 27 = 0

(x2 + 3)(x - 3)(x + 3) = 0

20)  x3 - 3x2 + 3x - 9 = 0

(x - 3)(x2 + 3) = 0

21)  x3 + 27 = 0

(x + 3)(x2 - 3x + 9) = 0

22)  x7 - x5 - 16x3 + 16x = 0

x(x - 1)(x + 1)(x - 2)(x + 2)(x2 + 4) = 0


